#gk 381 B2 RXL2HLFEBALHBAERRA '
#8B & fdE) A3 © 381

# 2 RAz% | R

—(204) 2IEE (FHRYRECE - ERES  RREEBRTTHS 8 45)

1. XY HEMEEREEY - B4 X EY WBREIEE (VO=VY)) » Bl X+Y f1 X-Y
HEEEMAERE (linearly correlated ) -

n

‘ : Z(Xi ~#)
2. 82X ~Ny0?) B X RSN n R G T8 (,.x,) B T—)—%
‘ XX -4

i=1

HEEnRY 128 -

3. BT LA TSRS RAR (5;—} ; %E?%EL}{—%%{EETEC (SHEX HRISHAE
¥ 7~ ‘ ’ g = 13 .S_ i °
HEFZEAZSE) - Al P HIEHEEER in% V()?)

4. B(X.5)..(X,.Y,) BRSO BER A - &Y =a+ M+ 1y BIEAE

PAREL B0 f=ry S
Y

5. BUE—HOEEHER (Maltiplé fegression model) ¥R ELEBMERIRYEEY - SRR
R R ST DB AT (neat fouliicollibearity) - FUFIBL/ N EAFH BRI
B (unbiasedness) SRS (cfficiency o BRI S SNERES -

—~(1073) FEE TR H T R EE R SRR EHEUER n=10 HELETHE
TXBFRENER-SECNIREHEENESNTRESP EPIIERE PE0~0.1
ERRIGESE - '

1. R X BREE EX) - (543)
2. FRXWEBEHVX) - (54)

=~ (10 53) RERBWES - ETHNFE AFE | BREOSRESES  WAeSUE
TRENE  ERAGHIBERET— SRR o EERE

. AEEREERANESERE SR ERREREFER  RERELNENE
BRI - (543) '

2. EERR 5 UZEBIERE  WFEERE S S RERTEEE Y
FERR AT SETTARE - (543 '

B




=% 381 Bl &M KPOSE AR U8 Ak XA

# 8

% 7 Rz#

et (F) 5t

?

oA

381
R

- (10 53) RERAERBEMREHWRBRSIHIIRE - T BN EHBENmS
E8) (iR REATE il 100 KETRERHH (RD)  EEEEIMEE
(FDI) WERLIREAMZERRORERE (BT ASNRFE  SIZE) - EHEE (5
=8 BE - BT - B FER ARCARERES XK E - eaRs
SREERIET SRR AT RNRE -

1. FEFIA bt Ee B T — B ERIEEEER R (Multiple regression model ) » (BITREE
DERERIh R BB R FFSHERE R - BHIRTFES) (5 9)
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G E| 199 | 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004 [ 2005
TR | 0.666 | 0.252| 0.186| 0.348| 0.804| 0.256| 0260| 0279| 0272 0.671

SHHTEEERBMEEE Y - HFRE 2SR IS Beta distribution, Y~Beta(a.B), HAax

f(y;a,ﬁ)=—1{:-(%)—;%y“"(]—y)”” 0<y<l,o>0,>0
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75 ~ (20 43) Let X; and X, be discrete random variables with joint pdf f(x;, xz) given by the

following table:
X2
1 2 3
1 1/12 1/6 0
x| 2 0 1/9 1/5
3 1/18 1/4 2/15
1. Are X, and X, independent? Why or why not? (5%)
2. Find P[X;<2]. (5%)
3. FindP[X, £X;]. (5%)
4. Tabulate the conditional pdf’s, f(xixz) and f(x2fx1). (5%)
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